Model 1217A AutoFolder

HOLOW
ERt-le]

44

Parts List & Diagrams

ALIEM

AOVI8

NAAQHSE

§

ST3AONW 11V INVHOVIA ONIYIM

(1148 2 "UN3) INT8 (VORIINY "N) "LHM

w NMOUE

HOLI0VdvD
NNd
HOL0NW

7

I 4

d3a10H Isnd
g ‘A0ZZ YO HOLIOVdVD
INOZ ‘ACLL ¥OH HOLIDVdYD

dAV 0} ‘Q¥O0D Nv3dOouN3
QdOO ANIM VSN ASLE
ONISHIAIY ‘HOLIMS

HOLOW OV A0ZZ
HOLOW OV AOLL
vonduassg

T T T T T e T T v v«

AOLL dNVS ISNd

dWY € ‘QY0D ANITHSILIYE |

HOLIMS AYYLNINOW/HIONO |

(L1449 ® "8n3) ‘Mmyg
Cdany ‘N 1a e

¥¥

£y

L

901109€9S-N
LEZSY0S-N

101Gv0S-

121508 |

982/€0S-N
020.E0S-N
S90£€0S-N
P90€€0S-N

8901LZ0S-W |

290120VdM
JBQUINN Med

rd

ovd

o

HO1IMS
NO-440

144

[ e¥
Z0LSVOS-W |

f44

oy
[4%
L€

44

..@l.

(1} 4
1
: 1&0
ALIHM
NAMOYSE
MOovg
1o T
HOLIMmS
ONISHIAIA

Martin Yale

INDUSTRIES,

Page 1

ProSource Packaging, Inc. 14911 Stuebner Airline Rd STE A

Houston, TX 77069



Figure Numbers: 49, 52, 58 are
NO LONGER AVAILABLE

1217 AUTOFOLDER
REVISION DATE:4/25/03

Page 2

ProSource Packaging, Inc. 14911 Stuebner Airline Rd STE A
Houston, TX 77069



49,52, 58 are NO

Figure Numbers:
LONGER

AVAILABLE

b AVAHL ONDIDVLS 12}

1 T 8ONM SWNHL 31avL 104
B ETind wwe dLid 10z~ oellzloW 1 2Lz QoY X Qise" LINWOND
T TUTTTTHEAGS MATION | 88LIZLOM :,mm |z HIADVLS QIZL X S/E X b/L
i HIA0D HOLOW oL 1 "~ TAQL) diws 3SN4
TP T T ieE 1H0ddnS moho‘_m., ISILZLOM 69 b TY3gIoH 3snd
i T IWvEd30IS 4T | vsLZIoM 88| L I3 "ADZE HOd HOLIDVAYD
Ty T INv4 3QIS LHOR | €SLIZLOM 97 “ L TTTIN0E 'AOLL HOJ HOLIOVAYD

T L4VHS ¥310) HOASANOD | Z5i1zIoM 99 ﬁ L AV NV WL T
1 GHYAD INAA | Sil2io-m 59 _ i dINV £ ‘080D INIT HSILIYE
! ALNHO | ITTosilzio-M YO b JWNY DL ‘040D Nv3doun3

T y¥ITIONGIad | vedziom €9 b auoD ANITVYSN ASLL
L 14VHS SAINA HOAIANOD _ T ceilziom 29 1 ONIM-D 0S-€0LS
T SRig ading 43 Tioy 1991 | oszeeoo-m | 19 2 *1%X3 "ONIMIND LE-655S
T | Daig 30N HITION IHOIY | 5925600-M | 09 L ONIH 1T "X 520018
T |7 WOSG/M STEVL HOAIANOGD gollzidm 65 ¥ " ONIY "L3Y " LX3 060015
"1 14VHS ONOT 'HITI0d JANMa [WITFAN o I ONIY “L3M X3 520015
b TAE8vIIavL 0334 .BoLlZIVAM 1§ L "gzo-an 'ONIHSNE TaNvd
1 RSSV gV aiOd Nz WL9Z1ZLVM | 85 I "33 NIVHLS T1ONY LHDIY
TP T uaMOTI1EVLaI04 IS TTTGaLLEHEM S5 ! T TTTONISHIATN 'HOLIMS
TP ASSYHIEVLAI04LSE | JOLIZlvM P8 L HOLIMS AMY.LNINOW/H40/NO
Vi ASSY TH3HM GF34 T SpLIZWVEM €5 2 ONRMdS T13xuvd
b H3TION Q04 1SE €6Lv-M 28 v 3NTEONidS NOISSIHANOD
T 1736 WINE ALH AYD S7l LeLiZisM s v 1004 ¥3gany
v >mm< THEHUMONDIOVLS T L8likglv-m 05 b 1739 a1H WINE Ok
z mmjmm_dﬂabﬂw_. iz RE:; 6 € " 1139 HOAIANOD
D | - uopduaseq N ped | B4 A uoydpassg
T 1817 S1¥vd

Z0ZLZIVHEM

200ZE0S-N

1S00£0S-W
ZE0BL0S-W
901 L0SE9S
FECSHOS-N
ZOLSHOSW
T 1015¥05W
960.805-W
1216705
982205
0202£0S-N
0v00L0S-W
L200L0S-W
§000L0S"W

£000L0SW

Z000L0S-IN -
£20SE0SW |
SLOSE0SW |
S90EC0SW |
¥08E0S
mmosam..s_
SEOLEOSN
SHO0EOSN
GSOSZOSW |
£S0£700UW
SN B

43470401LNV LiI2L

1
i

.
'

,Ni

o |

,Nm

9z

1
na
mv

f

— o o -

vv
£y
e

—-

'

< N

o~

i

[ 38~

:
H
H
i

op !
.mm g
BE

1

NN NN

|

e
tmm
L gg
v

3

1
I
t

'

33
0c
6z
R4

2

b4

¥ 3OVd NO WvHOVIA ATENISSY J38 -

1138 HiN £ ALH ANS t8 96L1ZISN 52

ASSV A3 TiNd GAN09 108 gellZio-m  ¥2
ATTINd HOLOW 12E 9ELZZ0S N €2
UOLONIVAGZZ  890I20SW 22
HOIOW DY ADLL  £90L20WuM 22
T oNI¥Y3d diNO 3aN9l gL 0COPIOSW | 12 ,
"ONIHSNE d¥NS NOUN .2/l Z20¥L0S"N ' 02
SNIHSNE GI9NVIL i 8/E 0LOELOS-W | 6| ,
" S1VI/M ONIHSNE Al |9/€ ~ BOOEIOS-W 2
" ONMS X3 08Ceks T G000L0S-W  Zb
SM NOTAN ZE/LXZE/62X2/1 | 'oy0B00S-W O}
T aHssNuLeis X Nmnm:!...m 111008-W Sk
ANNSADIXIHZER | SODLOOSTH_ )
SOHS QLEXCE0F  280E00S-W €l |
TUTUoBOTIAEVT | 09[IZIOW )
T TTH3A00 3dIS 1437 !-m%ﬂm__o.s T
HIACO 3AIS LHOWN Sw&ro-s_ ol
T USNNGS HOLNTD 20z OEFZIO-W T 6
AITINdWNE ALH ISL ~  Z6LLZLO-W 8
126V ONISHIATY 2121 0ELZLOW L
aod 3L BEZLLZLOW 9
T NidX3aN QauadvLl eveG600-W T S
N SNId I19VLa33d  HOLE00OW - v
QI 8/6 X LiZ HVIONOTAN  £E0S000-W_ e
AITINd JAEAEVL 109 $LOOSOW &
138v1ITEVLIAI04 B9GL000W b
vagdossg 18quIny PEd Bt

Page 3

ProSource Packaging, Inc. 14911 Stuebner Airline Rd STE A

Houston, TX 77069



@

Cl=I@MMmMOOm >

M-S010004
M-5031050
M-S034001
. M-S043046
 W-0003090
W-0003093

| \W-0121776
W-0121777

| W-0008013 |

W-A121718
STACK WHEEL ASSY
Fig. P e Description
M-S003031 | 10-32X3/4 SOCKET HEAD

. 5133-25 EXT. E-RING

| COMPRESSION SPRING LG, |

L30-4 BLACK 3" WHEEL
_ VINYL SAFETY TiP

| AXLE HOUSING

STACK WHEEL SHAFT

STACKING FINGER

| STACK WHEEL AXLE

STACK WHEEL BAR

_\..\_.|_n_._;w_.o,_‘g

=
|

' | N "\)‘
\\ g i// T
-, ,p,—_g-_f" G
@,—r—@/,, ry \"» \fj
@ f‘ﬁ @
&

moow=a e

-] mber

| M-0001566
| M-8030015 |

M-8032007

| W-0001507

W-0001534

| FOLD TABLE THUMB KNOB
| PAPER STOP BRACKET

W-A121764

1ST FOLD TABLE ASSY

r
15T FOLD RULER. 1217A
PAPER STOP BUMPER

= s N

BLACK PAPER STOP

®

_Fig, Part Number

mooOm>

W-A121767

2ND FOLD TABLE ASSY

Description

Q

=

| M-0001568 |

M-S030015
M-5032007

W-0001534

LOWER FOLD TABLE RULER |
PAPER STOP BUMPER

| FOLD TABLE THUMB KNOB
_ W-0001507 |

PAPER STOP BRACKET
BLACK PAPER STOP

- 2o ;N

NOTE: ANY PART NOT LABELED IN THE ASSEMBLY DIAGRAMS MAY ONLY BE ORDERED

AS A COMPLETE ASSEMBLY.

Martin Yale

INDUSTRIES,

251 Wedcor Avenue ¢ Wabash, IN 46992
Phone: (260)563-0641 « Fax: (260)563-4575

INC.

Website: www.martinyale.com ¢ Email: info@martinyale.com

| @ W-A121768
FEED TABLE ASSY

Fig. Part Number  Description ~ Qty.|
A WRAQ03116 | RETARDER ASSY 1
B M-8001021 | 10-32X1.25 PHL PAN/HD 1
C  M-5001081 | 10-32X1 SLOT PAN HD 1
D = M-5007008 | 10-32 HEX KEPS NUT 1
E  M-S007018 | 1/4-20 D/C THUMB NUT 1
F  M-S007040 | 10-32 ELASTIC NUT 1
G | M-S008011 | 1/4X9/16X1/16 NYLON F/\W | 1
H | M-S008045 | #10 X 5/8 FIBER WASHER 4
| | M-S031031  RETARDER SPRING 1
J | M-5032008  8/32 F/M THUMB KNOB 4
K | W-1121755  PAPER GUIDE, RIGHT 1
L | W-1121756 PAPER GUIDE, LEFT 1

M-S027091-1

ProSource Packaging, Inc. 14911 Stuebner Airline Rd STE A

Houston, TX 77069

Rev. 3
4/25/03





